8523 Converting Definite Integrals

1. Convert the following definite integral into another definite integral using
the substitution z = (5/2)u. Evaluate the resulting definite integral.

V3
_5, S __b_(f_(_‘.‘__% : 5v3/2 22dx
T ) 1t Ur / 102 LOF
5/2 4z +25

;.gﬁ“({_ﬁ,yaa
= 2[u- oau_!fmu\ 1 "“"[W_ -

2. Convert the following deﬁmte integral into another definite integral using

the substitution 22 = (16/9)(1 — u?) for u > 0. Y\V3 _ _%2_
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3. Find an approximate value of the integral / (4z — z?)dx using the

1
trapezoid rule with n = 6.
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4. Convert the following definite integral into another definite integral using
the substitution ©“ ="3x +'4 with u~>"V. "Kvaluate the restliing ‘aénnite
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6524 Integration and Partial Fractions

1. Evaluate the indefinite integral A 2
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2. Evaluate the indefinite integral
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6525 Harder Partial Fractions

1. Find an approximate value of the integral jf (4z — z?)dz using the

midpoint rule with n = 6.
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9. Convert the following definite integral into another definite integral using
the substitution u = 5z + 9.
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3. Evaluate the indefinite integral / (1622 _:29())5(6258 T3 dx.
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